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QUESTION 1

When IS-IS is electing a DIS, what is used as the tie breaker on an Alcatel-Lucent 7750 SR, if the priorities are the
same? 

A. The system ID 

B. The loopback address 

C. The sequence number of the Hello packet 

D. The device that first initiated communication becomes the DIS 

E. The highest interface MAC address 

Correct Answer: E 

 

QUESTION 2

Click on the exhibit. 

The routers have an established IS-IS L2 adjacency on which IPv4 system addresses are exchanged. An operator
successfully configures multi-topology IS-IS routing so that the IPv6 system addresses are also exchanged between
routers. 

After IPv6 has been configured, which of the following is TRUE? 

A. Router R2 has two IS-IS adjacencies and two LSPs 

B. Router R2 has two IS-IS adjacencies and three LSPs 
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C. Router R2 has two IS-IS adjacencies and four LSPs 

D. Router R2 has three IS-IS adjacencies and three LSPs 

E. Router R2 has three IS-IS adjacencies and four LSPs 

F. Router R2 has three IS-IS adjacencies and six LSPs 

Correct Answer: C 

 

QUESTION 3

What is the primary purpose of variable length subnet masks (VLSM)? 

A. To reduce the size of each routing update. 

B. To allow interoperability between routing protocols. 

C. To allow different subnet masks for different subnets. 

D. To reduce the size of the routing table. 

Correct Answer: C 

 

QUESTION 4

Which of the following best describes the forwarding of a IPv6 packet that has a destination anycast address? 

A. It is sent to all nodes on the local link. 

B. It is sent to all nodes on the local network. 

C. It is sent to all nodes that have joined the anycast group. 

D. It is sent to the nearest node that is assigned the anycast address 

E. It is sent to all nodes that are assigned the anycast address. 

Correct Answer: D 

 

QUESTION 5

What value should the AFI be set to for locally administered addressing? 

A. 1 

B. 49 C. 83 

D. 0 

Correct Answer: B 
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